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49,000

49,000

140,484

91,840
91,840

Ofl &F28

105,677,261
61,729,375
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2A:

AEH I
M ASARO| JIE| FDSH(SRHLSA/AY - AE
ol NSIlse AEIEEE =0 (SH9 M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
308 XXM SOl 12,000 18,144 N6, 144
01 XN BSELES 12,000 18,144 N6, 144
OdEY L YHEEX A=AE 12,000
ARE FLFE BRE 2AHl XA (212) 20,869 3,900 16,969
= 11,450
= 9,419
101 21AH| 16,969 0 16,969
2 11,450
= 5,519
M ORNZZ2NSE S 16,969 0 16,969
OJIZHZ2Z2R & B 16,969
= 11,450
= 5,519
201 Zet=E] 2,400 2,400
01 At2teltl 2,400 2,400
OH LYYl &R 2,400
202 04| 1,500 1,500
01 2L AL 1,500 1,500
O &g =0t 1,500
X ASE 27,166,329 21,660,895 5,506,434
= 17,120,681
= 10,045,648
FRIASE XZAMY =& 111,100 391,400 A.280,300
201 er23| 2,700 3,000 A300
01 At2t2ltl 2,700 3,000 A300
OUEAS20F SE2&A+E 2,700
202 04t 8,400 7,000 1,400
01 =LHOHI 8,400 7,000 1,400
OFLUASXZAYE XN HE 8,400
308 AtXIEMSOIE 70,000 25,000 45,000
01 AXEH B EES 70,000 25,000 45,000
O& &L= oSt B0t 70,000
403 TR SHMSAH=01H 30,000 148,000 118,000
01 AR A =2 £ 30,000 148,000 /118,000
OFEUF At 30,000
e AEs XJ(2D) 245,000 195,860 49,140
= 140,000
< 105,000
308 AtXIEMSOIE 245,000 195,860 49,140
= 140,000
= 105,000
01 HAHHBSEXRS 245,000 195,860 49,140
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A AR
HE: A0 JIX| A DEH S LA/ UL - AHE)
Chelr MEIA ASS EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
A SHAER(21) 1,772,155 2,092,000 319,845
2 1,012,660
= 759,495

403 XIXISH SAH0I& 1,772,155 2,092,000 319,845
= 1,012,660
= 759,49%

01 XIXISHR X =22 = 1,772,155 2,092,000 319,845
ORI ZSMACHT] =4 1,772,155
= 1,012,660
== 759,495

MEESZH(ZD) 427,314 1,146,325 A719,011
2 332,750
= o, 564

408 RHXISHHISRHEO0I & 427,314 1,146,325 A719,011
2 332,750
= o, 564

01 XXISHHIRH2 2 = 427,314 1,146,325 AT19,011
OKIAU=BRHT =4 427,314
= 332,750
= 9,564

AAS MAD|BIEA(ZD) 139,650 103,775 35,875
= 79,800
= 59,850

403 XIXISHHI SAH0I & 139,650 103,775 35,875
2 79,800
= 59,850

01 XXM K22 = 139,650 103,775 35,875
OYLS MAD|BIERY 139,650
2 79,800
= 59,850

BER2E FRIXIR(ZD) 868,067 1,164,479 N296,412
= 799,535
== 68,532

408 XIXISHHI S AH20I & 868,067 1,164,479 N296,412
= 799,535
== 68,532

01 XX SHHIAt2 B = 868,067 1,164,479 £296,412
OUSOZH FOAS X 868,067
2 799,535
= 68,532

SRt ASAAR X™(2D) 1,000 149 851
= 1,000

308 XX EHHISOI & 1,000 149 851
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SN AREE
M ZRAMEC JIX ZDSH =LA/ - AE
Chelr MEIA ASS EER=E)
S - FE - BRI(EH) - AIRAY - BES of v G o HIDE2
= 1,000
01 HXSHHBSEEXS 1,000 149 851
OS2 ASZARE K& 1,000
= 1,000
SHEIEYY ES(FHE)(S1) 137,592 136,080 1,512
= 98,280
& 39,312
403 AXIEHMSA=0l1d 137,592 136,080 1,512
= 98,280
= 39,312
01 XIS A=E £ 137,592 136,080 1,512
O=SHRAELH(FHE) B2 137,592
= 98,280
= 39,312
SHEEAY 25(FHE)(=1) 54,080 39,000 15,080
= 41,600
< 12,480
403 MR HHMSAHE01H 54,080 39,000 15,080
= 41,600
== 12,480
01 MHXIHHA 22X 54,080 39,000 15,080
OSMHEIELH(FRHYE) E5 54,080
= 41,600
= 12,480
SHaA2e(21) 272,205 272,205 0
= 209,390
== 62,815
308 AHXIEMSOIH 272,205 0 272,205
= 209,390
< 62,815
01 MRHHBSEEXS 272,205 0 272,205
O=M=2k & 84 2c| 272,205
= 209,390
= 62,815
e ST (ZD) 206,440 206,440 0
= 168,800
= 47,640
308 XXM SOIA 206,440 206,440 0
= 158,800
== 47,640
01 XN BSELES 206,440 206,440 0
Ozletd =ndat 206,440
= 158,800
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SN AREE
A 2 JHA 2 D3 (sSol =t/ - &HE
Chelr MEIA ASS EER=E)
S - FE - BRI(EH) - AIRAY - BES of v G o HIDE2
= 7,914
01 AtR2t2|HI 7,914 0 7,914
ozclss 7Y S 7,914
= 7,914
301 EtE N = 5,280,313 0 5,280,313
= 5,280,313
01 AR 2 HSFS(RNEERTH) 5,280,313 0 5,280,313
oggdy SAMNFHNES 5,280,313
= 5,280,313
308 AFAIEHMSOIH 95,955 0 95,955
= 95,955
01 HAHHBSEELS 95,955 0 95,955
OSAUHEHNES At 2tel 95,955
= 95,955
srrs =8 X2AEH(=21) 2,475,000 4,500,000 /2,025,000
= 1,650,000
< 825,000
403 MR EHSAHE01H 2,475,000 4,500,000 /2,025,000
= 1,650,000
= 825,000
01 AXISHA=2 2 2,475,000 4,500,000 /2,025,000
oty =g N 2,475,000
= 1,650,000
= 825,000
SAESHEHAH ZEAMS(2D) 5,278,000 0 5,278,000
= 4,060,000
< 1,218,000
403 MR HHMSAHE01H 5,278,000 0 5,278,000
= 4,060,000
< 1,218,000
01 MHXIHH A 222 5,278,000 0 5,278,000
OUESMHEAAE ZEAIE 5,278,000
= 4,060,000
= 1,218,000
JtBatdEd s (=0) 120,000 0 120,000
= 100,000
s 20,000
403 MR SHHMSAH=01H 120,000 0 120,000
= 100,000
< 20,000
01 A= 2L 120,000 0 120,000
OJtsatdEdat 120,000
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SN AREE
M UANRO| Jhx| H DS (SMHLLA/ALY - LHE)
el MEEY 72 FE (Gt M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
= 23,400
=S 16,380
=olld 2¢(=21) 523,614 511,697 1,917
= 308,007
== 215,607
308 AXIHSOIA 523,614 511,697 1,917
= 308,007
= 215,607
01 HAHHBSEXRS 523,614 511,697 1,917
O=dld 294 523,614
= 308,007
= 215,607
FOlz1E 2H9(21) 623,350 609, 162 14,188
= 366,675
== 256,675
308 AHXIEMSOIE 623,350 609, 162 14,188
= 366,675
= 256,675
01 HASHHBSEEXS 623,350 609,162 14,188
OROtzu= 29 623,350
= 366,675
= 256,675
LR 28(20) 163,200 163,200 0
= 96,000
=S 67,200
308 XXM SOIA 163,200 163,200 0
= 96,000
< 67,200
01 XN BSEES 163,200 163,200 0
OLHE xRz 23 163,200
= 96,000
= 67,200
MNHEe Sl tHe(=1) 49,920 0 49,920
= 38,400
= 11,520
403 NHXISHHMSAH=01H 49,920 0 49,920
= 38,400
s 11,520
01 AXISHHA 22 £ 49,920 0 49,920
ONASAE Sellall S 49,920
= 38,400
[ 11,520
AHF e TH(MEAY) 4,010,000 4,212,500 A202,500
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SN AREE
M ZRAMEC JIX ZDSH =LA/ - AE
Chol: ARR! MEH - 81 Ols =X (12l M2
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
403 AXIEHMSAH=01 3,575,000 4,550,000 A975,000
= 2,250,000
Jl 500,000
= 825,000
01 AXISHHA2EE 3,575,000 4,560,000 A975,000
O=3AlE &g 1,300,000
= 1,000,000
=S 300,000
OAsNs d283 1,625,000
= 1,250,000
< 375,000
OdEAA AAFE 650,000
7l 500,000
= 150,000
AQHE =MZ2 2M(21D) 509,000 1,530,000 A1,021,000
Jl 509,000
403 AXIEHHSAH=201H 509,000 1,530,000 A1,021,000
7l 509,000
01 AXISHHA 22 % 509,000 1,530,000 A1,021,000
ORFMU=Z &4 509,000
) 509,000
A= Hze|el 29(20) 178,976 87,661 91,315
= 105,280
< 73,696
308 AXIHSO0IA 178,976 87,661 91,315
= 105,280
= 73,696
01 HAHHBSEXS 178,976 87,661 91,315
OEAl= Za2cle 24 178,976
= 105,280
= 73,696
BAESE U =d 56,918,240 64,531,850 AT7,613,610
= 43,624,413
Jl 1,213,620
= 12,080,207
AMSUMA XS 7,700 7,700
201 2= 5,000 5,000
03 A2 I 5,000 5,000
OMSUMA BRI SE]Y S 5,000
301 LB 2,700 2,700
IENNCEEE] 2,700 2,700
OAMSUAL EBIIX 24 S 2,700
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2A:
X XH -
o e

=aak

SA - ZE . BR(3) - HRAR - BES of v G o HIDE2

ZHEEE FH(21) 4,456,162 4,363,638 102,524
= 4,456,162

202 04| 5,000 5,000 0
= 5,000

01 =LHOHI 5,000 5,000 0
OXEAMNY =M NEHSE S 5,000
= 5,000

206 M=l 4,451,162 4,348,638 102,524
= 4,451,162

01 MHZHl 4,451,162 4,348,638 102,524
2749 S 4,451,162
= 4,451,162

ZHExE XNA(=1) 3,582,378 5,691,841 2,109,463
= 2,539,5%
= 1,042,782

403 AXIEHHSA=201H 3,582,378 5,691,841 A2,109,463
= 2,539,5%
= 1,042,782

01 AXISHHA=2 2L 3,582,378 5,691,841 A\2,109,463
OZHE =4 3,582,378
= 2,539,5%
== 1,042,782

2UREE F2(21) 1,164,697 492,789 671,908
= 1,164,697

206 MH=H| 1,164,697 492,789 671,908
= 1,164,697

01 M= HI 1,164,697 492,789 671,908
23+ 1,164,697
= 1,164,697

ZURZE X(=1) 1,373,063 720,969 652,084
= 794,801
= 578,252

403 AXIEHHSAH=201d 1,373,063 720,969 652,084
= 794,801
= 578,252

01 AR A =2 £ 1,373,053 720,969 662,084
O2URxE 1,373,053
= 794,801
== 578,252

XNS9EsEE F2(21) 247,648 273,212 N25,564
= 247,648

206 M=4l 247,648 273,212 N25,564

- 666 -




SN AREE
M ZRAMEC JIX ZDSH =LA/ - AE
el BAasad 2l 2 (Gt M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
= 247,648
01 M=4l 247,648 273,212 N25,564
OXNHEsxg A 247,648
= 247,648
XNSEEsE2g XA(=21) 793,093 1,242,078 448,985
= 565,781
& 237,312
403 AXIEHMSA=0l1d 793,093 1,242,078 A\448,985
= 555,781
= 237,312
01 XISHH A =222 793,093 1,242,078 A\448,985
OXgSstxg K& 793,093
= 565,781
= 237,312
Wst2t =4 F2(2D) 169,619 91,732 77,887
= 169,619
206 M=H| 169,619 91,732 77,887
= 169,619
01 M=4l 169,619 91,732 77,887
237 S 169,619
= 169,619
Ust+2ith =4 X&(22) 395,881 492,878 196,997
= 265,381
< 130,500
403 MR EHSAHE01H 395,881 492,878 AN96,997
= 265,381
= 130,500
01 AXISHA=2E2 X 395,881 492,878 A96,997
OuUzt=gll =4 395,881
= 265,381
= 130,500
AT AHHIHR(21) 2,974,591 4,159,591 A1,185,000
= 2,606,257
== 368,334
403 MR HHMSAHE01H 2,974,591 4,159,591 1,185,000
= 2,606,257
< 368,334
01 A= 2L 2,974,591 4,159,591 A1,185,000
OB HEX 2,974,591
= 2,606,257
= 368,334
ASTIGHAl S22 F&(=1) 733,992 6,419,145 A\5,685,153
= 733,992
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SN ™
Ho: RO I A DS SN FA/LY - AE
el BAasad 2l 2 (SH9 M)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIRS2
206 T2 733,992 6,419,145 N5,685, 153
2 733,992
01 X=Hl 733,992 6,419,145 N5,685, 153
OMETIEHX 27X 227 733,992
2 733,992
AETEHA 27X N (2D) 1,838,508 3,852,001 A2,013,493
2 1,156,008
== 682,500
403 XX SHHI S XH20I & 1,838,508 3,852,001 ~2,013,493
2 1,156,008
=S 682,500
01 XIS A2EE 1,838,508 3,852,001 72,013,493
OMZIGHA =S7ZF X 1,838,508
2 1,156,008
= 682,500
FM=II )| FT(2D) 5,000 5,000 0
2 2,500
== 2,500
202 o1l 5,000 5,000 0
2 2,500
=S 2,500
01 2U ot 5,000 5,000 0
OFINPIINY FH NEEH 5,000
2 2,500
= 2,500
FM=II )| X2 (2D) 35,901,461 29,560,844 6,340,617
2 27,616,506
= 8,284,955
403 RIXISH SXH201 & 35,901,461 29,560,844 6,340,617
2 27,616,506
== 8,284,955
01 XX A2EE 35,901,461 29,560,844 6,340,617
O™ PI| X 35,901,461
2 27,616,506
=S 8,284,955
SSARIIRI| X(=21) 1,696,751 3,441,973 A1,745,222
2 1,315,465
= 331,286
308 XIXISHHISOIH 1,696,751 3,441,973 1,745,222
2 1,315,465
= 381,286
01 XIS B A EE2 1,696,751 3,441,973 1,745,222
OBZARIIRI| X 1,696,751
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SN AREBD
M ARIRO| JbE| HDEHSHHSSA/YL - ME
el BASad 2 XY EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
2 1,315,465
= 381,286
SAERI(S1) 1,577,706 2,497,888 A920,182
| 1,213,620
= 364,086
403 XHXI EHAI S RH0I & 1,577,706 2,497,888 A0, 182
| 1,213,620
< 364,086
01 KXISHH =2 1,577,706 2,497 888 £920, 182
CE=EIETpIE:5] 1,577,706
| 1,213,620
= 364,086
ME =MB Y 6,673,000 0,817,775 N4, 144,775
2 3,000,000
| 150,000
= 3,523,000
SR=TIzel BIIRYET 5,000 6,400 A1,400
201 2Er2 ] 2,000 3,000 A1,000
01 AR 22l 2,000 3,000 A1,000
OFVE L JIBNE 22 S 2,000
202 048] 3,000 3,400 £ 400
ETTOT] 3,000 3,400 2400
OMY=TIR0F ZRET 3,000
AR S Al E A (FEAIR) 2,493,000 2,741,375 £248,375
403 XHXI EHHIS K201 2,493,000 2,741,375 £248,375
Of IXESH =2 E 2,493,000 2,741,375 248,375
O=MMTIZ(HE) 682,500
oNTH(XE) 689,000
OMEEEE(NE) 130,000
OYEIR4(HE) 260,000
OYBINRH(HE) 130,000
CIEELEIED 582,000
O=ENYBRE(HE) 19,500
IS SA% £&(2D) 195,000 3,705,000 3,510,000
| 160,000
= 45,000
403 XHXI EHAI S RH=0I & 195,000 3,705,000 3,510,000
] 150,000
= 45,000
01 KIXIEHH =2 195,000 3,706,000 3,510,000
OIIBHS SA% =4 195,000
| 150,000
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SN AREE
M UANO| Jbx| H DS (SMHLL /ALY - LHE)
Rl dEH sME2t Y (Gt &2l
S - FE - BRI(EH) - AIRAY - BES of v G o HIDE2
| & 45,000
CAHEZE =4(=1) 3,640,000 3,900,000 260,000
[ 2,800,000
= 840,000
403 THXISHMSAH=01H 3,640,000 3,900,000 A260,000
= 2,800,000
=S 840,000
01 XM= 2L 3,640,000 3,900,000 /260,000
O Altted= &4 3,640,000
= 2,800,000
< 840,000
Aoty Jdels =d(=1) 260,000 390,000 130,000
=) 200,000
= 60,000
403 AXIEHMSAH=201H 260,000 390,000 130,000
[ 200,000
= 60,000
01 AXISHHA=2EE 260,000 390,000 130,000
OXt4ets Jgl= &4 260,000
s 200,000
s 60,000
SEI3E KA - 2 25,000 50,000 A25,000
403 MR HHMSAHE01H 25,000 50,000 225,000
01 MHXIHHA 22 25,000 50,000 A25,000
OMtEsE FAl - 2el 25,000
2= 2 - 2 25,000 25,000 0
403 AXIEHHSA=201H 25,000 25,000
01 AXIEHM A= 2 £ 25,000 25,000
o2 RX - 2l 25,000
M WA= MHAS (KA 30,000 0 30,000
403 AXIEHHSAH=01H 30,000 0 30,000
01 XM= 2L 30,000 0 30,000
OMEH o= M 30,000
Srort A e =8 184,839 16,250 168,589
e 15,650 16,250 2600
201 er2 3| 5,650 6,250 2600
01 AtR2t2|HI 5,650 6,250 A600
OXERTE = H 2= MY S 5,650
202 04| 10,000 10,000
01 =LHOLI 10,000 10,000
otttz 2= Bl 54 10,000
iS4t daol = 22l - 2 169,189 0 169,189
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